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QUESTION 1

What feature of the Catalyst 2960-L allows customers to get a small branch or office network running within minutes? 

A. support for Cisco DNA center 

B. on-box web interface for configuration 

C. flexible deployments with Stackwise-160 

D. complete CLI support 

Correct Answer: B 

 

 

QUESTION 2

Which product is considered part of the Cisco Meraki full stack? 

A. UCS servers 

B. MR wireless access points 

C. Aironet wireless access points 

D. Catalyst switches 

Correct Answer: B 

 

 

QUESTION 3

What is one-way Cisco DNA Spaces simplifies location services? 

A. Cisco DNA Spaces uses multiple dashboards tor customers to segregate data 

B. Cisco DNA Spaces is run on-premises 

C. Cisco DNA Spaces focuses exclusively on customer behavior 

D. Cisco DNA Spaces provides a single pan 

E. e view of allocation-based services that can be customized based on the ser and permissions. 

Correct Answer: D 
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QUESTION 4

What would be an indicator that a customer could benefit from a Meraki cloud-managed network? 

A. Customer needs modular hardware customization and granular, command-line level interfacing 

B. Customer prefers direct access to on-premises appliances and servers via in-line terminal management 

C. Customer requires end to-end visibility and a network that can be quickly deployed and easily managed by a limited
IT stat 

D. Customer seeks to implement a diverse solution of firewalls with 3rd party integration alongside other cloud
application. 

Correct Answer: C 

 

 

QUESTION 5

What do customers using the ISR 4000 and ISR 1100 series routers need to do to enable the Web User interface? 

A. nothing, it is configured by default 

B. purchase a license and configure an admin account for up to 5 routers 

C. complete a configuration process with help from Cisco support 

D. purchase a license for the browser-based system 

Correct Answer: A 
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